SHM  messemp pakens (AF m{) )

( _Level T

A=4em oamd T=4Lec

0

()

Azdem. omd T=)2 L
Farkiele Atorls Jom x=+4m.
%, of CHM

Ai=2f=0-lfw

DS salt s 4 o

©

\/=4C942§A,¢}n}mt

206820 = 2cer%9 -]
Ces28 = Ces20+]
2
i 4”% (1+ cost) &in lovot

Y= 2 ()+cost) &n lovol

Y= 2 Lin lovat + 2cest bin (o0l

Tha  expsussion Lan b sbtatned
b‘J Au]ompo/sbﬁ&n &5 Hwe SHM-

@ y = lo &mdext
CWW{?' O
Y= A &n cof
W = 207K
= _Q_:: OH .
:F QA , =
@ i = A Lm ot
Vo= A &inwk 4 A eos ok
Net  ampldicle of Y,
At = {m™a2 = A B
- A
Vl v

Ralro % WMAL Bﬁ}’i‘g}'z

|

bt y, = 3&n wk
ond Y, = 4 Ces ok
: = ik
Plate olifp 9 - L
At = 23%2+4> = &



@ Grenesal ¢q, &) SHM

y= a &m(z_h‘?f_ +a)
Whew  a— amplibude
T Lcmﬁwe-d
A o — )bﬂum -

T= 01 Lee and A= zxiob?’m»

Max. Ve,tou',@

Vmax = A w
Viay = A(‘%f—)

Vmax = 2%1073 y ox

—_—

0]

V = ‘W
Ma x E m/s
A= Loy, and V. = [0 wns
leb ey of cum
X= A &t/n w.t

V':éi_x_:: AMC,Q-:SM
Ak

_ V=V, Cos ok
Whim v = SCm/g-:_‘l_Q,
2

Ctewt =1 - cos 1

= 3

ALt nale
V&(oaﬁd A2 Qa é«mcbﬁn%
V= pzx2 — ©
Viay = A = loem/g
CO: .LQ_.- -'—tQJS-'

4
Rqotacv‘ng n eg @
V- 25 J4Zx?= &
q%xl = 9
hPug®. 2*
X% fiop®s (2
[thf:i, em
V= w [a% x>
vEe wt At X))
(o)* = > (A% 4*) (1
(‘g)‘?. ] C.O?_ (AZ__ 62) ______.(”)
ﬁ‘b (1) — (1)
3¢ = (5% 4%)
2 = _3_§_ = zf
S
) =
Time pudod
T OX =K
(42}



B

@

v Cmfs,ul}J W W

i

'\ - ﬁ
0- 01\/43 0.04

'TCs)

D= Likx2
when :I‘_AI
Uz %k(ﬁ ARGk 5
= 1L ka2- 2657

E- Ji kA== Jo T

Tetal g% ’E WA
E= L ka*

Hnee (b clﬁ—,owd/&mkia.

kl = |Spp N/m-

Ky = 30600 N/m

F = k;xlz klk'?_

Ratro G’f) Feientx.&ﬁ En.ux%___‘l
21

W C‘J...ﬁf?lac,t_mf/n!':y

= .él_kyz __/@

Whem displacement _;x.,Lg
E =

Q—’k (X-f-)/)z'____@

g QLk (X2+yz+QxY)

> €

-

L= 1[()(2' El_k([—i)z

b=t Lo g2
< K

U= 1 wx?
0 U= kﬁz &im a:}i.‘
m__; _




t

Kg. = | 2

amV
KE = _;erAg o cog? wht

k A
Wik
£
Ty T

@ y=6 &Jn(!&ot+_z[)“

Ca'mpahun.mﬁ with
~Y= A &vn(wt+_§)

A= 6em  and = loo
me: Aw

= (6x1072) x o0
Virax = 6m/s
Krax = glm(vma\x>z
=Ix1(e) - g

At mean posilin , ke L

A X .
; s U] 2
(k Edmax™ 3 KA = 167,
A= Jsem
K= 16x2 - 512 N/m
(0+-25)* =
Time peried Tx 2% [m
K
T:QK 9!}2 & I- ,&C
L S5

@

9% a lbunnd dug th-&aug/ﬂ
cenlern of eanth
Time  period of o< ecllalion

= Qﬁ\/R = 84.¢€ min

whie R oo nmm&éwﬂ

Teme +aken 4—0?0»)()'@"”)
one end to sthesy T= T =42.3



®

/'I\
R
v |9\

\ﬁ;ﬁ’\/”%a&m
msine '
S ﬁf’nuu A diiia/{ﬁtﬂ_c{

Mightly from mean positim

Force Consk: K - mg
R-3
T imae PULbcrd T‘:QK\[E_

K
)T: QR E‘i
i

€Y Time poiod ef <Hm ef a

ﬁcl“‘id’ m - tuloe

T: 2A l: (D
V=21

whine L= tolal Lomgih of Liguid

C(Ho twmn

Mm%ﬁqmd-:m
dm@ﬁgﬂ w o s,
V&Lum-;aﬂ_’l_

c"bOM- M}Sﬂ ea = a
ﬁﬁmﬁf‘fn C‘B j-kiu.tcl csloumn

L= V- m

a ad

Q-ﬂfiac&n_j in eq, ()
o

@ A block 9‘6 Al menstens
Vbie i poaling in waler

"‘{I@”F

} ]

Let Lwng-Hq erg— block LMC{L:BEE;L
At eﬂu&ubf«ium
Fo = mg

Ix (bex(:)xa = d{axbxc)x&

!L: do{,a

whote  d = ralatine densil

Time  poriod EJD 0cedlatisn

T:QKE:M\/%



Time PUu.o—cl 96 o< e latisn

T= Q?YJ__L—
d

whote | - diAtanuGéC-ﬂ‘M. T = Qi\/é:

il o e
9niILaLLj ¢co-M. U at antir
o phocs
At walnn flews eud” C0M - goes
deon . Mlee Aeme b f
aﬁaﬁn rises wp and, when
ll liguid s ook €0
ajax}n cones at camﬂn"
Hence M’Ub"'ﬂﬂ Aume

.Pbu',u'd_ nenades then diereases.

0 T palod of Hmple pendidan

T':Q?{/—.g
¢

Iside a mme , Value 5 9
decroases funce T inmcreades:

T.x[[
AT . ). /AL
T a(T)
9% f&mg% 4 incwasedd by 3r,
Al =3¢
;%p@%% L = 4L
T_'_/: _E = 2
{ L
Ontnvease i Limae pwovt
AT=T ' 7-8T

7o IMCrcage = AT y loo=loD ¥,
T



i wm Ans Combinalen
’Qu}: K Ky
Rl k}’fk

1o
30

At exlreme PD/&Lb_;Tﬂ

VQLOLJ,? V=D

Henee mementuum ’)Tan.&ﬂ—cwm

18 alap 300

Can

:._L §:=
=5 e A
f d
o ka—rK,,)
@ When  a mose ‘m i allached
At e?,wjﬁb)uum
R ’Mﬁ=kx
DAL =X
e
i
Time  porwiod of <HM
= QKF”I: an [
= 1
b= IR 02 - 9K foe.
9-2 7

WL%M vadty verlical

a = 49 x 1072

= 0-05
9-8



&

& Mlor masc 'm> i48 added
R(X+X) =@\4+m)3 —
& D -0)
The Gwo pruings o kx = mg
parallet  comb imatien | k=g —On)
K“l: K+ ky T ime  peried 9-5 o<eillatun
T= QXJ_—W_:: Q;\\/m T= &K\/M-rm
Keg, K, + K, R
T= 2 J__’f: > foe. —— ) Ls QK\/MX
K i
3f mass i umcwased by | B2) Weskdene = ncrease on PoE.
if% W= Lrx=
T= 2% [mra . g pee —@ SE Kn > kp

| and  Xp = Xp
Y ._T_i:JTnTz:_B_ |
(> T m 9 | fhtm[WA7W&}

m+2 _f}_

—_

™m L |




O
Combinalion  because
Extendion o one /Spl-wr?

&

= Cemprussuen o sther
K'aﬂ/: k’+k:>.:°'\)K
T: Q)T -r—m_

\/T?T
2k 2k
k, L
2%

Fos a &pmmg

RXL: W

§ sprmg & cut ints Two

equal  pars

L= i

kz: K

Novo Aprw e Cennecled wm

pas alled Com bin alien
kﬂ&i,: k;*kg_ith

FOYu bafanc.e

L
2
2

W:‘Q)(.:é{k-')(; “%'7(,21%[




f:GOHg amd A= 0.0!m.

L = REf = lox

mﬂ)(‘. amduz’ z
me = A—'aJ’l
amax = a0 ] (20 N*

@7”\

Accelen aton ot a particle.
Q4 - — co’X
when x = —X

ma X

a:-}-amx

Hemee Pa}otx.di L8 alb fsu'ml’j-

'”J‘—‘O-/Kﬁ,

XK= {/

(Jo em) méot+§)
C?mpw'u/y? Wit
X= A M—S(aﬁtflj’_l—)

A= loem
a3 = |O

Max. ace eles abien

s e B

2
Aax 0:1(10)= lom/s*

&0

m= logm , A=05m
omed T = g/m

=

ma x M X Qrnax

= m(A—c.oz): mA(‘%@)z

=0-0] xo0.5 (fo)z

@ ALt a = —CL?2X
MU/Y) X = 3dem

A= -2c? = IR em/s?
C(J?':Zf
WW=2

o

At higheet p ant
N = n¢g~ma~o

=t

Aw?2=lo 2 ¢ =1000



lo= Mg + 2mp 52
/fo =2l Ak

&9

Constdoned as a Apreny

= Ky Ky KA
kﬂ"?/ k{‘f‘Kz LCﬁX,-f— k)
L=
- kay
h$ AY+KL
IR 7 Q;(W)
KL‘L KA)’
Qo

=

awo‘— bwtC
br—4ace <0
bt < 4ac .






